i
S
St
g%
I

1. ¥%4
¥B4 AH0 6 RN E S F TR PG RS - ME R
BT T AT EE SRR N

2. ¥BNE

1) FBI4

2) JEATHM

FNTERESHPT  E RS R

313 HH H 4of 64 TH22H
= Sfn T4E 5H30A°

3) WEHY

4) FEBNE

[Esmd B EHIT R



HAL AR

EHA | DTN 6 AT ERE FHITE NG R MR - fIEHES ER REIES
HH Rk ET
THH - TR - FER <R {v2 % & & KA OB OER
s et = 25, 418, 768
Egaet =X 25, 418, 768
TG A R F X 5, 380, 036 | HiHhpk#
1 &
BEAF BRI SRS B
1 &
i P ERE R
1 &
Tkt
1 &
T RER E
1 &
VRGBS 1> AT Iy« SCRER TR R
1 L
Jite 15
1 &
RA R HE BRI e B E Rk
1 &
W EIERL
1 i
TERAlE G X 20, 038, 732 | HlHhipkes
8 &
BEAFE RN SRR
8 &
TEmET
1 L
TEmE
1 &
RS
1 el
-1- EhRmE  HEHSEmR



HAL AR

EWA | D06 AR ENE FHITE NIRRT - SRR RS ER %%%?
HH i
THE - TfE - FE5 B & & %A Ao AR

TikRET

1 &
T kRt

1 1%
TiEmEt

1 &
T kRt

1 &
TiEmEt

1 1%
ERAE R

1 &
FERERR

1 &
ERAE R

1 &
RIS

1 1%
BRAHE R

1 1%
RIS

1 &
e

1 1%
BRAE R

1 1%
)il

1 &
)il

1 1%
it T 5

1 s

-2 - [Esmd B EHIT R



HAL AR

EWA | D06 AR ENE FHITE NIRRT - SRR RS ER FREESS
HH Wit
THE - TfE - FE5 B & & %A Ao AR
it T 5
1 1
)il
1 1
it T 518
1 1
)il
1 1
it T 518
1 1
BECRABE s & BHERK
8 1
A EERL
8 i
LS| F2V 1 751, 100
Im GREHES) X 1 751, 100
e = 1 591,500 | ¥T&E
1 =
Z DA X 1 32,400 | BRAEFMNHEIC X DME
1 =]
2 BR R SR R AR AR X 1 127,200 | ZABHRER S 7ER
1 ES S
BR3¢ = 1 831, 326
RS = 1 831, 326
ik A m =X 1 163,326 | fik# (KL - E\E)
1 =
ATy 2 1 668,000 | 1R IEREY
1 =

-3 - [Esmd B EHIT R



AR WNARE

EWA | D06 AR ENE FHITE NIRRT - SRR RS ER FREESS
HH BRI (ZofhFMmk <)
THE - TfE - FE5 B & & %A OB R
EERAM (2O <) =X 1 27,001, 194
Z O MEAT = 1 13, 960, 494
— A B E2V 1 22,048, 312
eSS = 1 63, 010, 000

-4 - [Esmd B EHIT R



